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TEST 

 

I. For questions 1-10, complete the second sentence so that it has a similar 

meaning to the first sentence, using the word given. Do not change the word given. 

You must use between two and five words, including the word given.  

 

1) You must do exactly what the manager tells you.  

carry 

You must _______________________________________ instructions exactly. 

 

2) I am totally convinced that you'll pass the exam. 

chance 

In my opinion, there___________________________________your failing the exam. 

 

3) Not many people came to the wedding. 

number 

Only _______________________________________ people came to the wedding. 

 

4) I haven't got any money left. 

run 

I _______________________________________ money. 

 

5) The play was shorter than we had expected. 

last 

The play didn't _______________________________________ we had expected. 

 

6) I couldn't concentrate fully because of the noise coming from the next room. 

hard 

The noise coming from the next room _______________________________________ 

to concentrate fully. 

 

7) The twins described their experience to me in detail. 

description 

The twins gave _______________________________________ their experience. 

 

8) I'll be home late. 

until 

I _______________________________________ late. 
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9) This book will take me two years to write.   

have 

In two years’ _________________________________this book. 

 

10) Our boss said she had had enough of our arriving late. 

refused 

Our boss said she _______________________________with our arriving late. 

 

II. Choose the most suitable alternative below to fill in the gaps in the 

following text (A, B, C or D). 

 

THE EXECUTIVE WIFE WHO DECIDED TO TAKE OFF 

 

It was a routine problem for an executive wife. Jennifer Murray's husband had 

11)_____________  himself to an expensive new toy but did not have the time to use it. 

So she decided to have a go herself. It was a helicopter. Today, the 56-year-old 

grandmother 12)_____________  off to try to become the first woman to fly a small 

helicopter around the world. She admits: 'It's crazy.' 

Mrs. Murray plans to stop in 26 countries in 97 days, daring desert sandstorms 

and tropical monsoons on the 40,000-kilometre route. With her co-pilot, she took a 

survival course in which they 13)_____________ through a practice crash-landing in 

water. 

Aboard their four-seater helicopter, two seats have 14)_____________ way for an 

extra fuel tank which will slow them 15)_____________ but ensure that they can go up 

to 1250 kilometres on a single stretch. They are also carrying special equipment to 

enable them to survive in freezing conditions in the event of a mechanical breakdown. 

Mrs. Murray said of her husband: “It's all his 16)_____________ . He bought a 

helicopter but he didn't have time to learn to fly it, so he 17)_____________ I learn.” 

After flying for three years, she said as a joke that she should try a trip around the 

world. She was taken seriously and planning began. Mr. Murray car now fly but he is 

too busy to make the global trip and will 18)_____________... meet her on several 

stopovers. 

The trip is costing hundreds of thousands of pounds but they have succeeded in 

19)_____________ about half the cost through sponsorship from various companies. 

They hope to 20)_____________  about £500,000 for charity. 

 

11)  A purchased В treated С allowed D entertained 

12)  A comes В sets С leaves D turns 
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13)  A fell В went С saw D put 

14)  A moved В changed С let D made 

15)  A off В out С down D through 

16)  A lack В blame С guilt D fault 

17)  A suggested В indicated С warned D persuaded 

18)  A instead В rather than С aside D other than 

19)  A fulfilling В satisfying С matching D meeting 

20)  A mass В rise С raise D grow 

 

III. Use the word given at the end of each line to form a word that fits the 

gap in the same line. 

 

I get a lot of 21)_______________ from my job. Advertising SATISFY 

can be very 22)_____________ because you have to think of CREATE 

new ways to attract people's 23)________________The best ATTEND 

way to do this is by surprising them. 24)_______________ is FAMILIAR 

boring and people soon get fed up with an 25)____________ ADVERTISE 

they have seen many times before. 26) ______________ they CONSCIOUS 

want to be shocked. Apart from 27)______________the other ORIGINAL 

really important 28)_______________ of a good campaign is CHARACTER 

29)_______________After all if people don't remember what MEMORABLE 

was being advertised, they won't buy the 30)_____________ PRODUCE 

 

IV. Translate the words given in brackets into English. 

 

31) The wounded will leave hospital ________________ (в ближайшем будущем) 

32) I will be back at 5 ________________________________ (самое позднее) 

33) Do you have a dictionary ___________________________ (под рукой)? 

34) “Which pyjamas are yours?” – “__________________________ (Желтая).” 

35) I wanted to buy black shoes but they  _____________(не подошли мне по 

размеру). 

36) (Жаль, что Вы не предложили) ____________________ him some help with that  

assignment. 

37) (Не успели мы вернуться) _______________________ from the forest than it 

started raining. 

38) I (терпеть не могу стоять в очереди) __________________________ . 39) (Это 

отнимает) ____________________ too much time. 
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V. For questions 40-55, read the text below and think of the word which best 

fits each space. Use only one word in each space. 

 

NAMES 

If, like me, you are called John Smith and you live In England, you have the same 

name 40) _________ thousands of other people. When I was a child, I thought that 41) 

_________ in the world had a different name and I had a name of my 42) _________ 

but as 43) _________ as I went to school I realised that I was wrong because I found 

44) _________ were two other boys with my name. In fact, one of them became a close 

friend of 45)  _________ . 

When I meet someone for 46) _________ first time, they often think that they 

have met me before somewhere, but then they realise that in fact they are thinking of 

somebody 47) _________  – another John Smith. If I say my name in a hotel or a bank, 

the receptionist often looks at me suspiciously as 48) _________ is a name which 

people use 49) _________ they have to invent one quickly. 

Having met people 50) _________ all kinds of names, I have decided it is better 

to have a common name rather 51) _________ a very unusual one, 52) _________ 

parent chooses a name they like but when I recently met two people called Honey Moon 

and Holly Bush I wondered 53) _________ their parents were thinking of. 54) 

_________ of them appeared to mind having unusual names although they 55) 

_________ agreed that people sometimes did not take them seriously. 

 

VI. Read the text below and look carefully at each line. Some of lines are 

correct and some have a word which should not be there. If the line is correct put a 

tick ( ) in the space at the end of the line. If a line has a word which should not be 

there, put the word in the space at the end of the line. 

 

56) Many everyday objects are being given their names for  ______ 

57) a reason. The Biro (a ballpoint pen) was invented by   ______ 

58) Georg and Josef Biro, so that it was named after them.   ______ 

59) The sandwich, on the other hand, it was named after the  ______ 

60) 4th Earl of Sandwich in 1762. Despite of the fact that the  ______ 

61) idea of eating slices of meat between slices of bread was  ______ 

62) not a new one, the Earl of Sandwich made it popular. He  ______ 

63) would ask to be served this dish at his card table so that  ______ 

64) he could play the all day. Morse code (use of long   ______ 

65) and short sounds to send the messages along a wire) was  ______ 

66) been invented by Samuel Morse in 1844 and Bermuda  ______ 

67) shorts were so named because they at first became popular  ______ 
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68) in Bermuda. So, next time you will use an everyday   ______ 

69) object, why not to stop and think about where its name  ______ 

70) came from? You might be surprised!      ______ 

 

VII. Read this introduction to a report on sales of kitchen appliances. 

 

INTRODUCTION TO KITCHEN APPLIANCE REPORT UK 

Growth continued in the market last year, although at a much lower rate than in 

previous years. The trend from free-standing towards built-in appliances is gathering 

pace, In the free-standing sector, growth has mainly been concentrated at the upper end 

of the market, as an increasing proportion of consumers trade up to higher-specification 

appliances. The major sector within built-in appliances is cooking (including 

microwaves) with 79% by volume. Within the free-standing market, cooking takes 28% 

by volume, compared to refrigeration (31 %), laundry (33%) and dishwashers (8%). 

Built-in appliances 

The built-in cooking market comprises ovens, hobs and hoods. Many microwaves 

can be either built-in or free-standing. 

The built-in oven sector is the largest by value. Although gas has made some 

gains in share in recent years, the sector is primarily electric, estimated at 65%. Unlike 

ovens, the hob sector is predominantly gas, which accounts for around 59%, with 

electric hobs accounting for the balance. The built-in cooking market has experienced 

considerable growth in terms of volume, and this has spread to increased demand for 

extractor hoods. 

Refrigeration products are led by refrigerators, freezers and fridge/freezers. 

Built-in dishwashers are still low in terms of penetration, and growth potential 

still exists. They represent around 20% of the total dishwasher appliance market, a 

higher level than built-in refrigeration or laundry appliances. 

Free-standing appliances 

The free-standing cooking appliance market consists of cookers and microwaves. 

Free-standing cookers comprise gas - with a 55% share - dual fuel and electric. The 

increasing trend towards larger cooking appliances has resulted in the growth of range 

cookers. 

The free-standing refrigeration sector comprises refrigerators, freezers and 

fridge/freezers. The refrigeration market is saturated, with overall penetration at 99%. 

The trend towards larger appliances has resulted in significant growth within the 

fridge/freezer sector. 

There were some 934,000 free-standing dishwashers sold last year. Compared to 

other household appliances, the dishwasher market remains at a relatively low level of 

household penetration. The wider product range, including slimline and compact 
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dishwashers, and increased consumer awareness of the benefits the dishwasher can 

offer, have contributed to growth in this sector.   

 

Do the following statements agree with the information given in the text?  

Write 

TRUE if the statement agrees with the information 

FALSE if the statement contradicts the information 

NOT GIVEN     if there is no information on this 

 

71) Purchasers of free-standing appliances are tending to buy cheaper models. 

_____________ 

72) Cooking appliances account for a higher proportion of built-in appliances than of 

free-standing ones. _____________ 

73) Among built-in ovens, the proportion of gas ovens has grown. _____________ 

74) In the built-in sector, more electric ovens were sold than gas hobs. 

_____________ 

75) Sales of extractor hoods have been affected by trends in sales of cooking 

appliances. _____________ 

76) The proportion of people with built-in dishwashers is at its highest possible 

level. _____________ 

77) Sales of free-standing gas cookers are rising. _____________ 

78) Most free-standing range cookers use gas. _____________ 

79) The relative proportions of refrigerators, freezers and fridge/freezers being sold 

are static. _____________ 

80) Sales of dishwashers have been influenced by an increase in the number of types 

of dishwasher available. _____________ 

 

 


